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Ql (a) There are a few tlpes of application architectures. List ONE (f) e:rample of
application architoctures instead of client to server and peer to p€er. List TWO (2)

examples ud describe tlre chancteri$ics for fre application architechrc that you

have $ated.
(5 marks)

peer-to-l)@r

(4 marks)

(c) There are a few tansport services available for application layer. Outline THREE (3)

transport services that an application layer needed"

(6 marks)

layers of TCP/IP protocol suite. Give OnfE (1) protocol

(5 marks)

Q2 (a) Differentiate between intranet and internet and give THREE (3) disadvantages of
intranet

(c)

(8 mad$)

A web page of 70 Mbytes is being retrieved from a web server. The distance between

the host and the web senrer is 250 km thrcugh a ISDN connectio'n with a bit rate of
2.5lvlbps. Assrmingtrardre signal propagptionvelocity is 2 x lOt m/s. Solve:

(r) Thepropagation &lay,To
(ii) The total fiansfer time (delays within the host, server and routers are negligible)

(5 marl$)

Compute the ma:rimum block size for a channel with a mean BER probability of 1fr5

iffte p'robability of a block containing error is l0-r.
(3 madc)

Give TWO (2) comparison between Ih6 and IPv4.(d)

(a marks)

O) Sklpe is a proprietary VoIP system using its own protocol based on

(P2P) networking. Explain how SkSpe works.

(d) Outline the FIVE (s)

example for each layer.

(b)
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Q3 (a) Differentiate between datagram and virtual circuitpacket swirching techniques.

(4 mad$)

O) Define X.25 technology in network layer.
(2 maxl$)

(c) Frame relay is designed to provide a more efficient transmission schenre than X.25.

Describe TWO (2) advantages of frame relay.

(a ma*s)

(d) Give THREE (3) differentiation between frame relay and a conventional X.25 packet

switching senice.
(6 marks)

(e) Describe the fimction of a conftol plane and a user plane in frame relay protocol

architecture.
(a ma*s)

Q4 (a) Define the function of backend networks.
(2 marks)

O) Illusfiate the diffsences betwen serrrer-based storage and storage area network.

(a ma*s)

(c) List TIIREE (3) ftansmission medium for Local AreaNetwork (tAN).
(3 marks)

(d) In IEEE 802 referrence model, data link layer are divided bytwo conhol layer. Outline

the TWO (2) control layer.
(2 marks)

(e) Describe in detail THREE (3) services provided as alternatives for atrached devices

using Logical Liuk Control (LLC).
(6 marks)

(D Describe the fimction of bridges in LAI{.
(3 marks)
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a5 (a) Outline FOUR (4) most impotrtet requirement for Wireless t-AhI in a specific

eirvironment
(t muts)

O) The t02.ll working goup cmsidered two tlpes of access proeosals for a lvlAC

alguism. Describete TWO (2) access Fotocol.
(4 muts)

(c) List TgREE (3) physical media urhich are &fined in ee odginal E02.11 standard"

(3 ma*s)

(d) Dctutbc freqrreyrmge ofIEEE Efil.llamdIEEE el2.llg.
(2 mad$)

(e) List THREE (3) securig sandard / algffithm in wireless LAI.I 802.11

(3 ma*s)

- BI\II)OFQTIESTION.

CONFIDENTIAL


